S 1485y i =R * 15
T XATE 4« #Kih BEE
TT; BO(TH) XigkTs| M SR T Eg%ﬁ%ﬁuﬁ:ﬁzf %g;; T
% 2 e & # ®
| 85 Ecei 40 2. 6L 1. 5l 1.5
A ke 30 2. ET@ 1. 5 1.5
0T Exs - e - -
N S faUERT Ezsin - b -
4 T AKAT g - e - -
Z| 1TI6 By 30 2.6 1.5l 1.5
HEEAHET ESEY - i
{LIm g - e
| K g’ 40 .Biffi 1.5
KE Eee 40 LGl 1.5
B5 IR 40 .5l 1.5
EIFFIT B - -
TR Eoei 30 LGl 1.5
AN =ty 30 Gl 1.5
LIRS Ece 30 .ol 1.5
EF[EET gt - -
iel::pr) g 30 il 1.5
FERERT Bt — —
L Eetin 30 il 1.5
I B Eeei - -
LLET e — 2= - -
{0l Eeei) - e - -
AbATFKHT i — [t — —
LA Ik 30 2. 6 1.5l 1.5
HHT E=eEn 30 2. ET@ 1. 5iffi 1.5
<| BB ET Esein — e - -
211 EaetH 30 2.6/ 1.5/ 1.5
Z| R Eseid - e




S 1485y i =R * 2H
T XATE 4« #Kih BEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% = e & # ®
Z| BikET1 - 2TH N - o= - -
K EBHT £ - [eeti= - -
&| ARTET Exs - e - -
ez A i 30 2.6 1.5 1.5
= Eoein 40 2.6 1. 5l 1.5
L| BRI e - tl:f%r -1 -
B Eeei 30 2.6 1. 50l 1.5
T/ IR 30 2.6 1.5 1.5
T RAT £ - J:I:?Er -
TmAE e 30 2.6 m 1. 54f 1.5
1 i Esiid 30 2.6 m 1. 5fffi 1.5
ksl e 30 2.6 1. 5ff 1.5
7o &k e 30 2,600 1.5 1.5
T Ext 30 2. 67 1. 5l 1. 5
] Eeei — [E okl —
bl FH . A - ke - -
ot
1 BRI 5 — ot
2 LRELstoR 40 kg~ =
LEE 40 e - =
bR L i, B, il
1 EiE1915Hn 40 | 1.1 |/ Bk HERE b HERT b BT b T
2 _LELA o Mgk
(1) J RUBEAHRELR 40 | L1 [E 2. Ofl 2. 6 1.5l 1.5
(2)  ERELS o HIR 40 | 1.1 A e T T b
G, N, B, R, RER | 40 | 1.1 | e uERE bR b T b R
T, Ry R, £R, wWH, IS, ARH,
o i, HEIR, TERT. B, BE. &l
%}%@‘ L, A AT, FL




SF0 145 i = X 3E
T XATE 4« #Kih BEE
e R ks @ A o w4 [P PEEERTIBEITOGES

% e = * ® = # ®
bl HH ¥ o 40 | 11| 8.2 ISF@ 1.5rm 1.5

KIEHEE, BAfE, WIEL MER. B, FAR. | — | B B R L e v

#M, EARL, /%, RO, ¥H, F

5. R

M e

1 miE REFERHD 40 | 1.1 | R YERE BT e Y v
2 LFELIA o i 40 | L1 oo 22% 1.6l 1.5
g, dll, BhiE,
1 JRIUEARRLIE 40 1. 1 |Vl bt B bb YT bk M b
2 LRELU o i 40 | 110 2.0 2. 60 1.5 1.5
ALH/MA, HEORE, A, KR BT PR
MeEE, RO, R
1 BERMilh i — Eﬁﬁﬁmﬁﬁw@$m@$%ﬁ
2 kRELS O 40 Llﬁmﬁgw%m%@$%ﬁ
EZSE, THHT
1 EREiR B s Py o 2 R il KO —i 6. 4 11 1. 5 1.5
2 EREELS O 40 | L1|% 8.2 18k 1. 50k 1.5
D
1 BRI N o B A XK —i 9. T 15t 1. 5l 1.5
2 ERRLSh O HulR 40 Llﬁmﬁgw@ﬁwﬁﬁmﬁ
AR
1 M g — | B |V LY b L T BT
2 EEEHUFERK) ERRE
(1) REEIR B 0 2 H Hi Kk —l 6. 4l 11
(2)  ERRUSOHIR 410 Llﬁmﬁgmﬁ
3 LRiLSt ook
(1) FEIRBLHLRAN O B M i X —fl 6. 4F  11HE 1.5
(2)  EFELASOHIR 40 | L1|% 8.2 18 1.5
FuME, BB
1 BREEREME A o> B A M K —li 2. Ol 2. e 1. B




SF0 145 i = X 1H
AT ____ PHEE
SR ks w0 W e w4 [P PERERTIEEETA RS
bl HH 2 BREELSOHUS mﬁ Lfﬁmgﬁm£$m£$m§ i i
AT
1 FEHOGEH) BRIV, THE T
L RARIA L, BB A T IAR IS
U B VT I TR SRR R
(1) ESEiR B HOg PN o 2 A Hh R sk —#t 9.7 wmljflﬁ
(2) _EREEAS IR 40 1.1 Ett?%r;thf%fﬂ?hti’éﬁtti’é
2 _RELLISh o HiE
(1) B Wi Py o B2 T i Ik —fl 6. 4Bt 11 1.5 1.5
(2)  ERELSoHIE 40 | L.1|% 8.2 18ff 1. 58 1.5
@
1 B — | BRAR B L HEE LY e AT b T
2 LECBUt o HbR 40 | L1 [F0 2.0 2. 650 1.5l 1.5
& A
1 EEHGER) ERBVROTES
AFEITHIE W
(1) B iR BLHIE A o B A Hh X ig —#l 9. TRl 1540 L. Giff 1.5
(2) _EFELAS ik 40 1.1 Ebh@EtbﬁﬁbbﬁEbh@
2 _RRLLISh o HiE
(1) EEAREL AN 0 2 Hh i 6. 46l 11 1. G 1.5
(2)  ERELASoHIE 40 | L1|% 8.2 18ff 1. 58 1.5
P AN
1 R — | BRAR A L HEE bR e T b T
2 LRELSt oo
(1) e B Hiet P oD B FH ot pCIi —f 9. TR 15 1. 5 1.5
(2) RISt MR 40 Llﬁmﬁgmﬁﬂmﬁﬁm@
LRELLA D s 40 L1 2. 0f0 2.6 1.58 1.5
| HilE (FEMOER = ERAVY) | R EFYE

(FEHFEIR =R
1 REEHRFUMIE PN 0O B A DO

il 6.4’%’@ 11

’fp‘@. 1. biffi 1.5




SF0 145 i = X 5E
i CET A4 #KTH B
e R ks @ A o w4 [P PEEERTIBEITOGES
| # 2 _ELIS O HE, mﬁ Lfﬁmgﬁm£$w£$m§ ’ ’

FiE (FEMGFEK BRIV EER |

KE. KEB#%, WH, WA, L#HE (T2

HOFER ZRERB VW EERS) L /N, BH.

HFF, o, R, FIH

1 REERE N O = A R — 6. 40 11§01, 5l 1. 5
2 BRSO 40 | L1 7.9 lejﬁlﬁ

EbE, EO, FHE, FEAQ, A%

1 BRAM M — | B&H (A b HERE b e B e LT
2 EERLAOHIR 40 | 11| 9.7 220 1.58E 1.5
S, HESHT, KEHET - E%%%%%E%@ﬁ%%ﬁ%@

Sl B R sz

1 B HiR — | B& Eth@att@ﬁitt@ﬂitmj
2 ERCEAA OISR 40 Llﬁmﬁgw%m%@$%ﬁ
B
1 Bl it — | BEHR (V) bR b YT b T b 1
2 EREELS O
(1) EZRBLHLSRMN O B K |t 6. 48 11 1.5l 1.5
(20 RSO 40 | L1 7o 18fh 1.5 1.5
/MR
1 EEMOGER=MERLN
(1) AR sk — | R | S YEE b b Y P YE
(2) B3R Hhdel Py o B2 T Hh IR IEG —li 6. 45 11l 1. 5 1.5
(3) RSSO HR 40 Llﬁ%@gﬁﬁﬂwﬁﬁwﬁ
2 FREASh O it
(1) JRSERE g o 5 Hi X gk —fti 6. 46l L1t 1 B 1.5
(2)  EFRCLASOHIR 40 L1 7.9% 18 1.58 1.5
L
1 FEEMGER=FERLN 40 1. 1 |J8 2B b b v b T
2 _FEOEAA O 40 | 11| 7.9 180 1. GHE 1.5




1.

SF0 145 v R XK 6
HELIE PR e _____ MBS
S (TR wass @M m oW g [P ACEERTEECEA RS
% e & & ﬁ-f 7 #
ek &
1 Bl g — | BEAR (VR DL IR b L T L
2 LELRIAA oI
(1) oS4 L i dale Py oD J2 ) DI 9. Tl 150 1.5r@ 1.5
(2)  _RFELASR D Huk 40 | 1.1 Eltti’éEtt@ﬂ?tti%ﬂittK%
I
1 B g — | R |V L 2 b YT L T b 2
2 _EFLEISF MR
(1) IR F IS 0 2 1 H ik |t 9. TRl 15HE 1.5l 1.5
(2)  LRELAS o HidE 40 | 1.1 Ert@gtt@[ﬁb%[ﬁtt@
ERLEASN D i 40 | 1.1 . r@ 1. 5fffi 1.5
FRSFAT B — | B -1 -
3 NI IR 30 | L1 F@ L. 5l 1. 5
(| B T Bt — | B - -
i3 P =ty 40 | 1.1 it 1. 5l 1. 5
AT £ — | B i { - -
Ty BT T B2 — | B# o
IIRFRT Bt — | B# - -
BFAHT Bt — | B& - -
O BT Bt — | B# - -
SO T e — | m@ i
HE &S Estcn 40 | 1.1 rﬂa 1. Gl 1.5
TR sl - | B# - -
HE £z 40 | 1.0 .6l 1. 50 1.5
2 kBT E4En — | B -1 -
B =i 30 | 1.1 2.0 2. 67l 1. Gl 1. 5
EHT gt 30 | 11| 2. 00 2. 6l 1.5 1.5
R Eaeioy — | AR s e | -




SF0 145 i = X TH
T XATE 4« #Kih B
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i gt — | B EEE e - —
E T B ARAT H — | BRAR |V Lh AR T M b
LECLAS 0> it 40 | 1.1 (J8 e e B Y PR
L EzeEn 40 | 1.1 [ 2. Ol 2. 6 1.5l 1.5
P iR AT g — | BEAR RIILMEE LR | —
P dr#k AT e — | BEAR PEILEEE L | —
SRS ESsEn 30 | L1 WG 2.0l 2.6 1. 500 1.5
WET Eeesy 30 | 1.1 W 2. OE 2.6 1.5 1.5
m Hor i
1 J RfEAREA 40 | L1 | B YEE] YT b YR b T
2 hEEA o i 40 | L1|H 9.7 22 L5 1.5
%I_ﬁilﬁ‘ SO, BIRE, EMPE, By (40 | L1 Jﬁtbﬁ%thﬁiﬁm‘%&bh?@
[ aEean
1 4414~4427% 40 | L1 2.0 2.61@1.5[’@ 1.5
2 kiU o HiE 40 1.1 Jﬁtti’égtt@ﬁﬁtti’éfﬁttf%
RAEIT
1 3995~4019% 40 | 1.1 [0 2.0t 2. 6%t 1.5 1.5
2 ERRLSh O HulR 40 | 1.1 | Bl L HE b Y b T
LIS 0 s 40 | 110 2.0 2. 60 1.5 1.5
K| & mHAT ks — | B J%ttﬁﬁttﬁr -1 -




